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CADIEIRA 2,165,382 2,997,517 A832,135
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401 Al&HILLCHY] 911,044 0 911,044
01 Al&H] 905,500 0 905,500
OAHS10ETZ2IHA (L=120m B=6m) 905,500
> &AL A H HI 20,000,000 * 1Al 20,000
> & X 0H 2l 700,000,000& * 1Al 700,000
> Al & H] 180,000,0002 *1Al 180,000
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550,000 * 10 X| 5,500
03 AlX=0HHI 5,544 0 5,544
OAl & 2| 880,000,000 * 0.63/100 5,544
AX BE(MB)SZ2IHAZA 755,310 0 755,310
401 Al&HIL=20HY] 755,310 0 755,310
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> RIGHAI S S S B AIA B9 2 5] & 4 &
70,0002 * 102! * 33 2,100
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01 Ar222lt] 9,600 7,400 2,200
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02 2=l 5,650 400 5,250
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202 OfH| 10,000 10,000 0
01 =Lhoit] 10,000 10,000 0
OZANE % SAHE 2§l
10,000,0008 * 14} 10,000
01 YerEAS 1,000 0 1,000
TERTENE 1,000 0 1,000
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ENEEIBTERS 740,000 0 740,000
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OstuEXNREZ &z 3,024,239,000& * 14 3,024,239
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